Find the amplitude of the function and use the language of transformations to
describe how the graph of the function is related to the graph of y = sinx

A) y=3sinx B) y= %gin 5 C) y=- Ssinx

Find the period of the function and use the language of transformations to describe
how the graph of the function is related to the graph of y = cosx
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A) y =kos(2x) B) y=cos> C) ¥y= cos[#‘i]
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Graph 1 period of the function without using your ¢alculator.

Identify the-maxsqum and minimum values and the zeros of the function in the
interva @ 'se your understanding of transformations, not your calculator.
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